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Bit: A=[ a,2*b]

[3*a, 0]

Al=sym(A,2,2, '4*b’)

Al =[ a, 2*D]

[3*a, 4*D]

A2=subs(Al, 'c',"b")

A=l  a, 2%C]
[3*a, 4*c]
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03333 25000 v
1.4286 0.4000
Sym(A) |
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[1/3,5/2]
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numeric(A)
ahgls st
0.3333 2.5000
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fl1: f= '2%x"2+3*X-5'; 0= ‘X 2+X-7;
n=symadd(f,g)
A _
3EXN2+47%X-12
#i2:. f='cos(x)';g="sin(2*X)";
symop(f,'/'.g, +.f,"*',g)
ans =
COS(X)/sIN(2%X)+coS(X)*sIn(2%X)
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Bl = 2*X22+3*X-5; = X/ 2+X-7;

>> Syms: X

>> f=2%X024+3%X-5; g= X"2+X-1;
>> h=f+g -

h = 3*x"2+4*x-12

#112: f=cos(x);q= S|n(2*x)

>> Syms X«

>> f=cos(x);g=sIn(2*x);

>> f/g+1*Q

ans =
cos(x)/sin(x)+cos(Xx)*sin(x)
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digits(25) _

vpa(1/2+1/3)

ans =

.8333333333333333333333333



vpa(5/6,40)
ans =
.8333333333333333333333333333333333333333

a=sym('[1/4,exp(1),log(3),3/7]")
a =

[ 1/4,exp(1)]

[log(3), 3/7]

vpa(a,10)

ans =
[:2500000000,2.718281828]
[1.098612289, .4285714286]
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F=Int(int("x*exp(-x*y)",'x"),'y’")
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1/y*exp(-x*y)

W20 =% exp(-x*10)' [l 222

F=ztrans(f)
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z*exp(-10)/(z-exp(-10))"2



>> SYMS X. Y. "
>> F=int(int(x*exp(- X*y) X); y)
o=

1y*exp(-x*y)

>> SymS X

>> f=x*exp(-x*10); '

>> F=ztrans(f) '
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>> 3=[01:-2 -3];

>>5ymMS S

>> b=(s*eye(2)-a)

b =

L5501

[ 2, 5+3]

>> B=inv(b)

[ (s+3)/(s"2+3*s+2), . 1/(s"2+3*s+2)]
[ -2/(sh2+3*5+2), 's/(sP2+3*s+2)]



>> bl1=ilaplace(sym(b;1,1));b(1,1)=b11"

>> b12=ilaplace(symi(b,1,2)):b(1,2)=h12;

>> b21=ilaplace(sym(b;2,1));b(2,1)=b21;

>> p22=1laplace(sym(b,2,2));b(2,2)=b22;
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i 4 _ _ _ _

[ zexp(-2*t)+2*exp(-t), . exp(-t)-exp(-2*t)]
[-2%exp(-t)+2*exp(-2*t), 2*exp(-2*t)-exp(-1)]
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o-solve(f +'b") e e AR B hK

ans =

-(aFx~2+c)/%

#12. 555 /7 FEcos(x)=sin(x)
tan(2*x)=sin(x) =k fi#

fl=solve('cos(x)=sin(x)"),
f1.5
1/4*pi




f2=solve(‘tan(2*x)=sin(x))

f2 =

| 0]
[acos(1/2+1/2%3(1/2))]

[acos(1/2 -1/2*37(1/2))]

f3=

) 0]

| pi]

s atan(1/2*(2*3NL2)A(L/2), 172+ 1/2*37N(112))]
' atan(-1/2*(-2*3M1/2))N(1/2),1/2+1/2%3(1/2))]
- atan(1/2*27(1/2)*3NL/A)I(1/2-1/2*37(1/2)))+pi]
-atan(1/2*27(1/12)* 37 (LI4)H(1/2-1/2*37(1/2)))-pi]




numeric(f2):
ans =
0
-0 +0.8314i
1.9455
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numeric(f3)
ans =
0
3.1416
0 + 0.8314i
0 - 0.8314i
1.9455 |
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f—solve(gl g2, g3)
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z=5/6,y=-1/2,.x =2/3



f-solve(x+y+z 1 xy+z =2 2*xyz 1)
2
X. [1x1 sym] f.x
| ans-=2/3
y: [Ix1sym] fy
ans =-1/2
Z:[1x1 sym]’ f.z "

' - ans=5/6
[xyz]—solve(x+y+z 1 xy+z 2 2*xyz 1)
X="2/3
y =-1/2
Z=5/6



5, TR TR - -
T e 2] DL 43 A5 29
o i R A % |
Moy SR ARFS 4 dsolve
iy < Hg2: - dsolve(f,g) .

of —— Hll5r T FE T&ZélZ/\M/\?ﬁEE’J;J?
it g N HImR R

o TRk HAR =N X AR TR E £ Eit T

o Ty T FE AR SO LRSS REDR R




dy o dy
dt dx

dy doy
dt2 EZ‘ 2

dny dny

dt” jz dx"

vy 2P 5

vy n B

[v1,y2:.. ]=dselve(x L,x2,..

ey e Dy

H—— D2y
B G 4—~—— Dny
Xn) JB .



) Sl
dsolve('Dx=y’,'Dy=x’,'x(0)=0','y(0)=1})
alls =

x(t) = sint), y(t) = cos(t)
¥ T
dsolve('D2y=-a"2*y','y(0)=1""'Dy(pi/a)=0")
allS =

cos(a*x)
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y=dsolve('D2y+2*Dy+2*y=0','y(0)=1','Dy(0)=0")
ans =

exp(-x)*cos(X)+exp(-x)*sin(x)
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K bernoulli 5.

a=maple(‘bernoulli(5,x)")

ad =

-116* X+5/3F XN 3+X15-5/2* x4
a=maple('bernoutli(5,3)")

0 =
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{2, AL = R Esin?x# Gos?X
a=maple(‘'simplify(sin{x)*2+ces(x)"2);) ..
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f=maple('laplace(exp(-3*t)*sin(t).t,s);)
fo)
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f (X) = X°+2X%+2

a=maple('completesquare(x*2+2*x+2)’)
q =

completesquare(x22+2*x+2)
maple(with(student);) « @ ©
a=maple(‘completesquare(x”*2+2*x+2)')
a —

(X+1)"2+1
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maple('mtaylor(sin(x*2+y”2);[x=0,y=0],8)")
K _ _ | |
mtaylor(sin(x"2+y”»2),[x = 0,y = 0],8)

maple('mtaylor(sin(x?2+y”2),[x=0,y=0],8)’)

ans =

XA2HYND =16 XNG-LI2*YND* N4~ 1 [ 2%y AA*XAD-
1/6*y"6
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maple(‘readlib(mtaylor);")

maple('mtaylor(k*1°2/x22,[1=0:5;x=0.1],3);')



2. X752 R Ef(matlab6. 17 map ki 25)

f=k*1"2/x"2';

maple('mtaylor(f,[1=0.5,x=0.1},3);')

ans =

mtaylor(f,[L.= .5, X =.1],3)

mpa('u’,f)

maple(‘'mtaylor(u,[1=0.5,x=0.1},3);")

ans =

25.*%k-.50e3*k*(Xx-.1)+.10e3*k*(l-
.9)*+7500.000000000000*Kk* (X~
D)A2+.1e3*k*(1-.5)22-.20e4*k*(1-.5)*(x-.1)
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